
 

            Class II   (27/6/20)  

                Mathematics  

Word problems-  

1. Asha has 42 bangles.  Sukhi has 51 bangles . Who has more bangles ,and 

by how much?   

 

2. There were75 leaves on a tree. 39 leaves were blown  away by wind. 

How many leaves were left ?  

 

        

      3.In a village there were 82 big trees. 27 were cut to make the road. How 

many  big trees are now left in the village?   

   

   

      4.On a rainy day ,42 umbrellas were sold from a shop .If the shop had 75 

umbrellas, how many are there now ?   

   

   5.Ravi is 14 years old. His father is 40 years old. How many years  older is 

Ravi's father? 

     


